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Autumn 2017 Paper 2 010
1 Here is part of a distance-time graph for a car’s journey.
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(a) Between which two times does the car travel at its greatest speed?
Give a reason for your answer.
(2)
(b) Work out this greatest speed.
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA m/s
1)

(Total for Question 1 is 3 marks)
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2 Here is a speed-time graph for a train.
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(a) Work out an estimate for the distance the train travelled in the first 20 seconds.
Use 4 strips of equal width.
...................................................... m
3)
(b) Is your answer to (a) an underestimate or an overestimate of the actual distance the
train travelled?
Give a reason for your answer.
1)

(Total for Question 2 is 4 marks)
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3 The graph shows the speed of a car, in metres per second, during the first 20 seconds of
a journey.
A
40
30 »
Speed .
(m/s) 20 /
/
/
10
/
/
/
/
0 >
0 5 10 15 20
Time (s)
(a) Work out an estimate for the distance the car travelled in the first 20 seconds.
Use 4 strips of equal width.
....................................................... metres
3)
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(b) Is your answer to part (a) an underestimate or an overestimate of the actual distance
the car travelled in the first 20 seconds?
Give a reason for your answer.

(Total for Question 3 is 4 marks)
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4 Here is a speed-time graph for a car.
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(a) Work out an estimate for the distance the car travelled in the first 30 seconds.
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA m
(2)
(b) Is your answer to part (a) an underestimate or an overestimate of the actual distance
the car travelled in the first 30 seconds?
Give a reason for your answer.
(1)
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Julian used the graph to answer this question.

Work out an estimate for the acceleration of the car at time 60 seconds.

Here is Julian’s working.
acceleration = speed + time

=13+60
=0.216 m/s?
Julian’s method does not give a good estimate of the acceleration at time 60 seconds.

(c) Explain why.

(Total for Question 4 is 4 marks)
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5 Sam drives his car on a journey.

Here is the travel graph for the first 15 minutes of his journey.
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(a) Work out Sam’s speed, in km/h, for the first 15 minutes of his journey.

At 1015 Sam stops for 10 minutes and then drives for 20 minutes at a speed of 75 km/h.

(b) On the grid, complete the travel graph for Sam’s journey.

&)

(Total for Question 5 is 5 marks)
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6 Here is a speed-time graph showing the speed, in metres per second, of an object
t seconds after it started to move from rest.
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(a) Using 3 trapeziums of equal width, work out an estimate for the area under the graph
between =1 and t = 4
3)
(b) What does this area represent?
1)
(Total for Question 6 is 4 marks)
. J




www.yesterdaysmathsexam.com

Autumn 2019 Paper 2 021

7 Here is a speed-time graph for a train journey between two stations.
The journey took 100 seconds.
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(a) Calculate the time taken by the train to travel half the distance between the two stations.
You must show all your working.

seconds

(b) Compare the acceleration of the train during the first part of its journey with the
acceleration of the train during the last part of its journey.

(Total for Question 7 is 5 marks)



